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+*MODEL EXAMINATION, MARCH 2021

Part — III
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
~ Maximum : 60 Scores »
Time : 2 Hours
Cool-off time : 20 Minutes

\

/

General Instructions to €andidates :
o There is a ‘Cool‘off time’ of 20 minutes in addition to the writing time.
e Use the ‘Cool-off'time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
® Read the instructibirs carefully.
e Calculations, figt¥s and graphs should be shown in the answer sheet itself.
¢ Malayalam versivh'of the questions is also provided.
¢ Give equations whtrever necessary.

e Electronic devicesexcept non-programmabfe calculators are not allowed in the
Examination HdH.
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Answer the following questions from 1 to 37 up to a maximum Score of 60.

From the following questions answer for 40 Scores from Part - A and 20 Scores from

Part - B.
PART -A
(ACCOUNTING)
L Questions from 1 to 4 carries 1 sg:bre each. @4x1=4)

1. Which of the following is not included in the final accounts of a not-for-profit
organisation ?
(a) Profit and loss a/c.
(b) Receipt and Payment a/c.
(c) Income and Expenditure a/c.
(d) Balance Sheet

2. Partners are entitled to get which of the following in the absence of partnership
deed ?

(a) Interest on capital at specified rate,

(b) Interest on partners loan @ 6% per annum.
(¢) Salary or Commission.

(d) All of these

3.  Suresh and Vinod are partners;in-a firm sharing proﬁté in the ratio of 4 : 1. They
admit Hari as a partner for 1/6 share. Their sacrificing ratio will be

(@ 3:2 § (b) 4:1
() 2:1 d 1:1
4 The revaluation profit or loss at the time of retirement of a partner is distributed
among the partners in ratio.
(a) 'New ratio (b) Oldratio -
(¢) Gaining ratio : (d) Sacrificing ratio
IIL.  Questions from 5 to 7 carries 2 scores each. (3%x2=6)

5. Where will you record the following items in the final accounts of a not-for-profit
organisation ?
(i) General donation
(ii) Life membership fee

(Hint : Debit or credit side of Income and expendmlre alc. ,,psset or liability side
_of Balance Sheet)

ME-50 2.
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Muneer, a partner in a firm withdraws ¥ 4,000 at the begining of every month for
12 months. The books of the firm closes on 31% December every year. Calculate
interest on drawings of Muneer @ 10% per annum.

State any two differences between dissolution of partnership and dissolution of
firm. :
IIL. Questions from 8 to 10 carries 3 scores each. (3x3=9)
8.  State any three features of Not-for-Profit organisation.
9. Calculate value of goodwill of a firm oﬁ the basis of 3 years purchase of super
profit given that capital employed is T 2,00,000; normal rate of return is 10% and
-average profit for last few years is 25,000. :
10. Anu, Manu and Sonia are partners in a firm sharing profits and losses in the ratio
of 2 : 1: 1. Sonia retires and the goodwill of the firm is valued at ¥ 1,20,000.
Write journal entry regarding adjustment for goodwill. ~
IV. Questions from 11 to 15 carries 4 scores each. (5x4=20)
11. State any four differences between Fixed, Capital Méthod and Fluctuating Capital
Method. "
12. 'Record the followiﬁg in the Revaluation a/c. of a firm'at the time of admission of
a partner.
(a) The value of furniture increased by ¥ 5,000.
(b) Unrecorded investment T 3,000.
(c) Provide ¥ 1,000 for doubtful debt. -
(d) Stock reduced to ¥ 24,000 (Book value : ¥ 30,000)
13. 'Kaushik and Devan are partners in a firm sharing profits and losses in the ratio of

-0

3 : 2. They admit Arjun into partnership with 1/4 share in_profit. Arjun brings
% 30,000 for capital and his share of goodwilkin cash. The goodwill of the firm is
valued at T 20,000. Their new ratio is 2.: 1 41 Give journal éntries.

4
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14. Balu, Rajesh and Abhijith are partners in a firm. Rajesh retires from the firm. On
the date of retirement ¥ 48,000 due to him. Balu and Abhijith promise to pay him
in four equal yearly instalments plus interest @ 10% per annum at the end of
every years. Prepare Rajesh’s loan a/c. )

15. Write the journal entries for recording the following transactions at the time of
dissolution of a firm. '

(a) Assets realised ¥ 36,000.

(b) Liability paid by Ashok, a partner X 4,000.
(¢) Realisation expenses paid by firm ¥ 1,000.
(d) Furniture taken by Sunil, a partner ¥ 5,000.

V. Questions from 16 to 20 carries 5 scores each. (5x5=25)
16. Differentiate between Receipt and Payment Account and Income and Expendxture
Account (any 5).

17. From the following information ascertain the amount of subscription to be shown
in the Income and Expenditure Account of A-One Sports Club for the year ending

31.12.2020:

(a) Subscription received during the year 2020 ¥ 72,000
(b) Subscription outstanding on. 1.1.2020 74,000
(c) Subscription received in advance on 1.1:2020 3,000
(d) Subséription outstanding on 31.12.2020 5,000

(e) Subscription received in advance on 31 122020 22,000

18. Sumathi and Manju are partners in a firm sharing profits in the ratio of 3 : 2. Their
capital balance as on 01.01.2020 was ¥ 40,000 and ¥ 30,000 respectively. The
partnership provides that Sumathi is to be paid a salary of T 1,000 per month and
Manju is to get a commission of ¥ 10,000 for the year. Interest on capital is
allowed at 8% per annum. Interest on drawing charged from Sumathi ¥ 1,500 and
Manju ¥ 1,200. The net profit of the firm before making all these adjustments was
T 74,900.

Prepare Profit and Loss Appropriation Account.

19. What do you mean by goodw1ll ? Explain the various factors affecting the value
of goodwﬂl of a firm.

ME-50 | 6
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20.. Answer the following : .

(d) Lallu and Omar are partners in a firm sharing profits and losses in the ratio
of 5 : 3. They admit Mathew as a partner. On the date of his admission their
balance sheet showed a balance of ¥ 24,000 in profit and loss a/c. (Dr.) and
% 12,000 in reserve fund.

Record necessary journal entries for treatment of accumulated profit or loss. A3)

(b) Calculate the value of goodwill on the basis of three years purchase of
average profit of last five years. The profit for the last 5 years were : )
Year 2015 2016 2017 2018 2019
Profit | 40,000 | 36,000 | 44,000 | 45,000 35,000
VI. Questions from 21 to 22 carries 8 scores each. 2x8=16)

" 21. From the following Receipt and Payment A/c and other, information, prepare
Income and Expenditure A/c of Multi Star Sports Club as on 31 .12.2019:

* Receipt and Payment A/c for the year ending 31:12,2019

Receipts Amount Payme_ﬁtg Amount
® ®

Balance b/d : Salary 10,000
Cash in hand 14,000 | Electricity 6,000
Cash at bank 6,000 | Furniture 40,000
Subscriptions 78,000 | Investment 5,000
Entr_ancé fee 3,000 | Wages 3,000
Donation for Building 25,000 | Stationery 2,000
Locker rent 2,000 | Rent 1,000-
General expenses 6,000

Interest 2,000

Balance c/d :

Cash in hand 15,000

Cash at bank 38,000

1,28,000 1,28,000

Other Information :

L

(a) Subscription outstanding on 31.12.2019 amounts to T 4,000.
(b) Electricity includes a sum of ¥ 500 paid for the next year, -
(c) Half of entrance fee is to be capitalised. <

i Pl
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22. Given below is the balance sheet of Akhil and Ameer carrying partnership
business as on 31.12.2018. Akhil and Ameer share profits and losses in the ratio

of3:2, .
Balance Sheet of Akhil and Ameer as on 31.12.2018
Liabilites Amount Assets S
® ®

Sundry Creditors 68,000 | Cash in hand ‘ 40,000
| Outstanding expenses 2,000 | Sundry debtors 50,000
General Reserve ~ 15,000 | Stock 40,000
_Capitals : Plant 1,00,000
Akhil  1,80,000 . |Buildings 1,50,000
Ameer _1,50,000 3,30,000 | Investments : 35,000
4,15,000 4,15,000

Carlose is admitted as a partner on the date of Balance Sheet on the following
terms :

(a) Carlose will bring ¥ 1,00,000 as his capital for 1/6 share in profits.

(b) Plant is to be appreciated to'¥ 1,20,000 and buildings is to be appreciated by
10%.

(c) The value of stock is reduced by 10%.

(d) A provision for doubtful debt is to be ¢reated at 10% of debtors.

(e) Creditor were unrecorded to the extent of ¥ 1,000.

Prepare Revaluation a/c. and Partners Capital a/c. after the admission of Carlose.

PART -B
COMPUTER[SE'D ACCOUNTING
VIL. Question from 23 to 26, Carries 1 score each : s @4x1=4)
23. The code assigned for Kerala as “KL” and Tamil Nadu as “TN” is an example of

(a) Block Codes

(b)° Mnemonic Codes

(c) Alpha Numerical Codes

(d) Sequential Codes i

¢



22,

1E-50

@paflene @rdlo) 3 : 2 agm @RMIamEDICE 2108010 Mayalo .-uaéﬂs;cm 80)
alBglOmONOL! e Elee06m, @IO)es 31.12.2018 e sruoeinday’ oddlg’

2RUeSs Gaidaaam).
31.12.2018 o1 arafleloqgo) @edldlogw)e snioeimday’aflg
MWD M @M H0B - T
® ®
avend(s] euiegemy’ 68,000 | &$9034 DB anOMBA 40,000
BSMgOaFloy 2,000 | moend(s] ewsnicgemny’ 50,000
af)BTUBaImBavay
Kmoad dlavdal’ 15,000 | cquoss’ 40,000
Boallgamday’: ofoq 1,00,000
anafloed 1,80,000 enfl@dauslony’ 1,50,000
@odld _1.50,000 | 3,30,000 | pBecigyeay 35,000
4,15,000 4,15,000

@ddeenmion suoeidmy’ - cllociwles e ANl asogleow] oae
BN (11500 DUBOQISIBTMAN).
(a) @odeenav 1/6 encovilon s eidlenmaleeiencel 1,00,000 o)l

2RIWM20Q] BRI,

(®)  goaflead meise 1,20,000 @R©I 24dam). mAcdufleusle

adeulay)

(©)  eqyoasiong el 10% DETE B0HBI B8N,
(@)  eawenicgemilen 10% ruovd@ddiain &s@piliiom dlesieaiafidlenim.
(&)  owlegsmias 1,000 o)l COAUESITTOTHEO@ENE. '
@odeenmion (IGIMOBIM)CHES munoaimadilen dlaoeiyealeuad
BRSVENE}o alBOF|HZOS MEIWM ERAVENE)o GYOINOH ). _

PART -B

COMPUTERISED ACCOUNTING
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24. The intersection of a column and a row in spreadsheet is called as
(a) Range () Cell ‘
(¢) Work sheet : (d) Work book
25. The function used for preparing loan repayment schedule in Libre office calc is
(8 SLN (b) PMT
(c) AND (d) DB
26. Which of the following is not a system generated le'déer account in GNU Khata ?
(a) Opening Stock
(b) Stock at the beginning
(c) Closing stock
(d) Cash
VIII, Question from 27 to 30, Carries 2 scores each : ‘ Co 4x2=8)
27.  Select the financial functions from the following :
PV, RATE, IF, ROUND, CQUNT, NPV, LOOKUP, ACRINT.
28. Name any four elements of a chart or graph.
29. State any two advantages of charts and graphs in business applications.
30. Fill the series as per hint given :

MBE-50

Transaction Voucher Type | Function Key
Salary Paid Payment F5
Deposited into Bank
Interest received

12
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IX. Question from 31 to 32, Carries 3 scores each : 2x3=6)

31. Briefly explain the functions available in Libre Office Calc for calculating
depreciation under Fixed Instalment Method and Diminishing Balance Method.

32. Describe the procedure to prepare a Bank Reconciliation statement in GNU
Khata. ‘

X. Question fr_om 33 to 35, Carries 4 scores each : (3x4=12)

33. Explain the security features of Computerised Accounting System.
34. Describe the features of Libre Offi'ce Calc.

35. Briefly explain the following :

(a) Tables
(b) Forms
XI. Question from 36 to 37, Carries 5 scores each : 2x5=10)
" 36. Lists the merits and demerits of Computerised Accounting System (CAS).
(any 5 each)

37. Explain any 5 statistical or logical functions in Libre Office Calc.
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IX. 31 ay»ad 32 1oow)as catosiemudes 3 6apod afloo. 2x3=6)

31, adlaroaw’ @nﬁm‘gocﬁmq@’ dol  awlaldlasdlows’ o) agaial  (aldore
DRNBUDo  BHEMBNVNMGIMO]  eEniadadiay’ @odalsd 2I820015)80
a0EEaUM)BHOS alg] an(‘O;«ﬂGﬂ aflai@leens.

32. dmpuoomeiod enosy cmm;mamam algld ®QONoBNMEY nq)msxne@cm
aflvosassee)e. :

X. 33 0o 35 a1oew)ns canaymmides’d capod aflme. Bxd4=12)
33, &MUYEEO0NIW  @RODIE  MUaWOMETIN  (LIEBAOAIBAD
avaflennsma:ud allaidlea)s. '

34, eflEniaoadlay &0malen Mmalewamad alueaose)s.

35. ®@oev mamigesal allidlee)s :

(a) esenfiBaY
(b) Gandoy’
XL 36 203 37 160w)pm dal0sbasS 61pod allme. @x5=10)

36. @mggencmiw’  @RsevMElw  Mealwom@Teg vEMeBgle GaI5amE0
QUAMBOIND.  (aBO®BIEN S afjerRo)

37. eflgnuaoadlay’ somslens agomelen. @emi awogigflendd @regmlad
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